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What are the components of the events logged in IBM Cloud Activity Tracker?
Response:

A. Action, Initiator, Observer, Outcome, and Target

B. Initiator, Observer, Target, and Action

C. Initiator, Target, Data, Action, and Outcome

D. Initiator, Target, Event data, Criticality level, and--Log Level

Answer: A

When using App ID on IBM Cloud, what application standard protocol provides authorization?
Response:

A. CSP

B. AppAuth 2.0
C. WAF

D. OAuth 2.0

Answer: D

Which two phases of the software development lifecycle does DevSecOps automate with the integration
of security?
Response:

A. Development
B. Review

C. Deployment
D. Production

E. Reliability

Answer: A,C
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A DevSecOps professional is tasked with securely storing an IBM Cloud API key. They must be in
compliance with secrets management best practices. What fits this requirement?
Response:

A. HashiCorp Vault

B. Hyper Protect

C. Cloud Object Storage

D. Security and Compliance Center

Answer: A

In the IBM Cloud DevSecOps practice, which two options are agile values?
Response:

A. Individuals

B. Working software

C. Customer sign off of the high-level design
D. Peer discussions

E. Customer surveys

Answer: A,B

What is IBM Cloud Schematics?
Response:

A. A tool to create cloud architectural diagrams and blueprints

B. A tool to automate the deployment and management of cloud infrastructure environments
C. A tool to define and enforce policies for infrastructure configuration and security

D. A tool to reverse-engineer infrastructure environments into Terraform templates

Answer: B
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In IBM Cloud, what is advisable to use as a storage medium for the transient binary files as part of the
Toolchain?
Response:

A. Object Storage
B. Block Storage
C. File Storage

D. Storage Fusion

Answer: A
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